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Mathematics Education for Primary and Secondary School

Basic Algebra Test

This is a ti,med !,est, the time allowed is 45 minutes. If you finish ea.rly, please
indicate on the front page of the test how long you took to do the test. Please
do not use sepa.rate sheets of paper, use the back of sheets to do rough work if
necessary.

Hand in your test to the lecturer at 8'15am on L September 20L0.

Please note that calculators or books must not be used for this test!

Good Luck!

[Q1] Simplify the following ercpressions as much as possible.

(a) 3e * 7u - 2u: 3,1+5'.-.-.-..-.-.....-_

(b) l4nx - 6k - 5m * 3k I k * m: io'r  -  lk

(c) 4r2 + 2r * 3a2+ 5 +o + 1 : ]xl+jx+G

(d) 5 + 3r2 - 4 + 6r - 3r - 1 :  gxl- i3x

(e) 5a2 .2r2: lox\

(f\ 4u2 .5u3 : 1o r.5
---._.?-

(g) 2(3r + 4) - 3(2 - r) : 9x+z

-lr*\2 - ,-2
(h) *t1*'. -*

ZT"-T

, . .3r-4 2x-3 -- I -( i )  3" 
-  

2r :  
Gx

.. .  /a+2 a-2\-1 {=!0)  (=-=l  :  8*



[QZ] Expa,nd (sv: utveckla) and simplify the following expressions.

(a) (r-s)(r+s):  r ' - t '

(b) (2a - 3)(za + 3) : t{dt-q

(c\  b-3)(z+2)-C+S: l -x

(d) (r+t) ' - ( r -1) ' :  l r

(e) (r + l\(r _ 2\(r+3): 13* l,rt-Sx-L

(f) (z + L)(2r2 -r +3) : :2r(x.-!-"r zx+3

(g) (r-  zr-L)(zf  -z+3):  -2.xr-x ' -zx-3

(h) (22 + 3a - \" :  t lxr+Q*+ l2x5-r lx -65+l

( i)  (a+b)2: &t+ tc-s * b'

0) (a+b)a: (q+ 9c5t+ 6o""t"+ 9ab1 +bl

[Q3] Solve the following equations.
(a) r* 5: 11. Answer: r:  C

(b) 6a: 20. Answer: a: Ll

(c) bl3: -5. Answer: b: -15
I

(d) 3r + 5 : 10r. Answer: r: a

(e\ 2r - 5:7. Answer: c: 6

( f )  2r+2:r*4.  Answer:  x:  \

4
(g) 5r - 2: L2 - 3r. Answer: r: a

(h) 2(5r + t) : a(3r - 7). Answer: x: l{



(i) z(zx + 1) - 3(z - 1) :8. Arswer: x: 3

(i\ 12 :4. Answer: r: ! Z

IQ4l (a) Solve the inequality 5r 12 >!.2. Arswer: X >L

(b) Solve the inequality -2ri3 > 13. Arswer: x<-5

(c) Simplify the following ocpression.

(^/n-^fs)r: t

(d) Suppose that l(r) :2@r - Q.
Then f(4): 16

(e) The a,rea of a tria.ngle is
tbh

where b denotes the length of the base a,nd /z the height of the tri-
angle. The area of a triangle with b: 7 cm and h:4 cmis lY qna


